
One of the two fire stations in a certain town responds to calls in the northern half of the town, 
and the other fire station responds to calls in the southern half of the town. One of the town 
council members believes that the two fire stations have different mean response times. Response 
time is measured by the difference between the time an emergency call comes into the fire station 
and the time the first fire truck arrives at the scene of the fire.

Data were collected to investigate whether the council member’s belief is correct. A random sample 
of 50 calls selected from the northern fire station had a mean response time of 4.3 minutes with a 
standard deviation of 3.7 minutes. A random sample of 50 calls selected from the southern fire 
station had a mean response time of 5.3 minutes with a standard deviation of 3.2 minutes.

(a) Construct and interpret a 95 percent confidence interval for the difference in mean response 
times between the two fire stations.

(b)Does the confidence interval in part (a) support the council member’s belief that the two fire 
stations have different mean response times? Explain.

Scoring:

“FRAPPY”
{Free Response AP Problem...Yay!}
The following problem is taken from an actual Advanced Placement Statistics Examination.
Your task is to generate a complete, concise statistical response in 15 minutes.  You will be graded 
based on the AP rubric and will earn a score of 0-4.  After grading, keep this problem in your binder 
for your AP Exam preparation.
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